
 

 

Answer on Question #63172 - Chemistry - General Chemistry 

Question 

Propane, C3H8, is commonly provided as a bottled gas for use as a fuel. In 0.400 mol of propane 

what is the mass of propane? What mass of carbon is present? How many molecules of C3H8 are 

present? and how many hydrogen atoms are present? 

Solution: 

𝑚(𝐶3𝐻8) = 𝜗(𝐶3𝐻8) ∙ 𝑀(𝐶3𝐻8) = 0.4 ∙ 44 = 17.6 (𝑔) 

𝑚(𝐶) = 3 ∙ 𝜗(𝐶3𝐻8) ∙ 𝑀(𝐶) = 3 ∙ 0.4 ∙ 12 = 14.4 (𝑔) 

𝑁(𝐶3𝐻8) = 𝜗(𝐶3𝐻8) ∙ 𝑁𝐴 = 0.4 ∙ 6.02 ∙ 1023 = 2.41 ∙ 1023  

𝑁(𝐻) = 8 ∙ 𝑁(𝐶3𝐻8) = 8 ∙ 2.41 ∙ 1023 = 1.93 ∙ 1024  

Answer:  

𝑚(𝐶3𝐻8) = 17.6 (𝑔) 

𝑚(𝐶) = 14.4 (𝑔) 

𝑁(𝐶3𝐻8) = 2.41 ∙ 1023 

𝑁(𝐻) = 1.93 ∙ 1024 
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